Origin200™ and Origin™ Vault
Rackmount Kit Installation Guide

Document Number 007-3575-001



CONTRIBUTORS

Written by Kameran Kashani

Ilustrated by Francesca Angelesco, Cheri Brown, Dan Young, and Kameran Kashani

Production by Mike Dixon

St. Peter’s Basilica image courtesy of ENEL SpA and InfoByte SpA. Disk Thrower
image courtesy of Xavier Berenguer, Animatica.

© 1997, Silicon Graphics, Inc.— All Rights Reserved
The contents of this document may not be copied or duplicated in any form, in whole
or in part, without the prior written permission of Silicon Graphics, Inc.

RESTRICTED RIGHTS LEGEND

Use, duplication, or disclosure of the technical data contained in this document by
the Government is subject to restrictions as set forth in subdivision (c) (1) (ii) of the
Rights in Technical Data and Computer Software clause at DFARS 52.227-7013
and/or in similar or successor clauses in the FAR, or in the DOD or NASA FAR
Supplement. Unpublished rights reserved under the Copyright Laws of the United
States. Contractor/manufacturer is Silicon Graphics, Inc., 2011 N. Shoreline Blvd.,
Mountain View, CA 94043-1389.

Silicon Graphics and the Silicon Graphics logo are registered trademarks and Origin
and Origin200 are trademarks of Silicon Graphics, Inc. CrayLink is a trademark of
Cray Research, Inc., a wholey-owned subsidiary of Silicon Graphics, Inc.

FCC Warning

This equipment has been tested and found compliant with the limits for a Class A
digital device, pursuant to Part 15 of the FCC rules. These limits are designed to
provide reasonable protection against harmful interference when the equipment is
operated in a commercial environment. This equipment generates, uses, and can
radiate radio frequency energy and, if not installed and used in accordance with the
instruction manual, may cause harmful interference to radio communications.
Operation of this equipment in a residential area is likely to cause harmful
interference, in which case the user will be required to correct the interference at his
own expense.

Attention
This product requires the use of external shielded cables in order to maintain
compliance pursuant to Part 15 of the FCC Rules.

Origin200™ and Origin™ Vault Rackmount Kit Installation Guide
Document Number 007-3575-001



International Special Committee on Radio Interference (CISPR)

This equipment has been tested to and is in compliance with the Class A limits per
CISPR publication 22, Limits and Methods of Measurement of Radio Interference
Characteristics of Information Technology Equipment; Germany’s BZT Class A
limits for Information Technology Equipment; and Japan’s VCCI Class 1 limits.

Canadian Department of Communications Statement

This digital apparatus does not exceed the Class A limits for radio noise emissions
from digital apparatus as set out in the Radio Interference Regulations of the
Canadian Department of Communications.

Attention

Le présent appareil numérique n’émet pas de perturbations radioélectriques
dépassant les normes applicables aux appareils numériques de Classe A prescrites
dans le Reglement sur le interferences radioélectriques établi par le Ministere des
Communications du Canada.

ZOREIL, F-HEHREE (F L¥EMSIZHENWT
R X2 XEEHREE) Tl LERR TOBEPREE
Dilk A2 B9 & U 720 S0 EE 28 S5 B b 8 3 B 1
#FE(VCCD HHEIHALTHBO X7,

P> T, FeikE 71372 OB U 7= sk Tl 4
B, 93904, FLEY 3 VRERSIIZERELS
ABIENHD T,

HURHZBIZHE > TIELWED o E LT F &0,







Contents

List of Figures vii
List of Tables ix

About the Rackmounting Kit xi
Mounting and Safety Considerations xi
Vertical Space Requirements  xi

Mounting and Vibration xii
About This Guide xii

Installing the Rackmount Kit 1
Checking the Kit Contents 2

Preparing the System 3

Removing Components 5

Attaching the Rackmount Hardware 10
Installing the System In a Rack 12






List of Figures

Figure 1-1 Contents of the Rackmount Kit 2

Figure 1-2 Removing the Front Door 3

Figure 1-3 Components That Must Be Removed Before Installing the
Rackmount Kit 5

Figure 1-4 Removing the System Cover 6

Figure 1-5 Removing the Top Cap 7

Figure 1-6 Removing the Lower Bezel 8

Figure 1-7 Removing the Pedestal Assembly 9

Figure 1-8 Attaching the Mounting Ears 10

Figure 1-9 Installing the Door Assist Tab 11

Figure 1-10 Installing the Mounting Shelf 12

Figure 1-11 Placing the System In A Rack 13

Figure 1-12 Replacing the Front Door 14

vii






List of Tables

Table i
Table 1-1

Vibration Ratings for Origin200 and Origin Vault xii
Contents of the Rackmount Upgrade Kit 2






About the Rackmounting Kit

™ ™

This kit converts a Silicon Graphics® Origin200™ server or Origin™ Vault expansion
cabinet from a tower configuration to a rackmount configuration. It also provides a
mounting shelf that you can use to install the Origin200 or Origin Vault in a standard,
19-inch equipment rack.

Mounting and Safety Considerations

The Silicon Graphics Origin200 server and Origin Vault products have been certified and
licensed by international safety agencies for use in the following ways:

¢ asstand-alone units
¢ for installation in Silicon Graphics model CMN-AQ17 rack systems (Silicon
Graphics marketing code P-5-RACK)

Although the hardware in this kit enables you to mount these systems in 19-inch
equipment racks, installation in such racks may require submittal to an approved safety
agency for evaluation, certification, and licensing of the new rack-system combination.
Check with your local building inspector for requirements applicable to your location.

Vertical Space Requirements

When used with the mounting shelf provided, each chassis uses 4 U of vertical rack space
(7 inches, or 17.8 cm). (One “U” is equal to 1.75 inches or 4.445 cm.)

Xi



About the Rackmounting Kit

About This Guide

Xii

Mounting and Vibration

The mounting shelf provided with this kit does not provide dampening and insulation
from excess mechanical vibration and shock. If you are installing the Origin Vault server
or Origin Vault expansion cabinet in a location that is subject to shock and vibration in
excess of the values to which these units are rated, you should obtain an appropriate
mounting system. Table i shows the vibration ratings for Origin200 and Origin Vault.

Table i Vibration Ratings for Origin200 and Origin Vault

Characteristic Value

Maximum sustained vibration, operating 5-10 Hz @ .01” total excursion, 10-500 Hz@ 0.1 g
Maximum peak, operating 5-10 Hz @ .02” total excursion, 10-500 Hz@ 0.1 g

Sensitive frequency, operating 8-33 Hz (varies with configuration)

This Origin200 and Origin Vault Rackmount Kit Installation Guide contains one chapter:

¢ Chapter 1, “Installing the Rackmount Kit” lists the kit contents and describes how
to install the rackmount hardware.

Typographical Conventions

This document uses these conventions:

¢ References to document titles are in italics.

e IRIX commands and filenames appear in text as italics.

¢ Anything that you type on your keyboard is in Couri er bol d.

¢ References to other chapters and sections within this guide are in quotation marks.

* Names of menu choices are in quotation marks.



About the Rackmounting Kit

Names of IRIX reference (manual) pages are in the default font and are followed by
the section number of the reference page. For example “who(1)” refers to the who
command, which is found in section 1 of the IRIX reference.

Steps to perform tasks are in numbered sentences. When a numbered step needs
more explanation, the explanation follows the step and is preceded by a square
bullet.

Xiii






Chapter 1

Installing the Rackmount Kit

This chapter describes how to convert an Origin200 server or Origin Vault expansion
cabinet from a tower configuration to a rackmount configuration. It contains the
following sections:

®  “Checking the Kit Contents” on page 2 lists the contents of this rackmount kit.

* “Preparing the System” on page 3 describes how to prepare the system for
installing the kit.

¢ “Removing Components” on page 5 describes what components you must remove
from the system.

¢ “Attaching the Rackmount Hardware” on page 10 shows how to attach the
rackmounting ears to the sides of the chassis.

¢ “Installing the System In a Rack” on page 12 describes how to install the
rackmounting rails and the system in an equipment rack.



Chapter 1: Installing the Rackmount Kit

Checking the Kit Contents

The rackmount kit ships with the items shown in Figure 1-1 and Table 1-1. If any of these
items are missing, contact Silicon Graphics or your local service provider.

@
@
& A r
° 6-32 x 1/4-inch screws Door assist tab
54
@ @
A
@ @ 10-32 x 1/2-inch screws | K]
g g Mounting ears
(left and right)
P ]
g #10 washers Mo
o (.203-inch ID x .562 inch OD
® .040-inch thick) <
End-caps for 19-inch and
21-inch racks

Figure 1-1 Contents of the Rackmount Kit

Table 1-1 Contents of the Rackmount Upgrade Kit

Item Quantity  Silicon Graphics Part Number

Mounting shelf 1 040-2083-001

Mounting ears 1 040-2006-001 (right)
1 040-2007-001 (left)

Door assist tab 1 040-2005-001

End-caps kit, containing 2 caps for 19-inch racks 1 026-1198-001

and 2 caps for 21-inch racks.

Screws, Phillips head, 6-32 x 1/4-inch 5 7270805

Screws, Phillips head, 10-32 x 1/2-inch 8 7260230

Washers, #10 (.203 ID x .562 OD x .040 inch thick) 4 7280044




Preparing the System

Preparing the System

Follow these steps to prepare your Origin200 or Origin Vault before installing the
rackmount kit:

1. Shut down the system.

If you are installing the kit on an Origin Vault expansion cabinet, you must first
shut down the computer to which it is attached.

Disconnect all cables at the rear of the system, including power, networking, serial,
. ™ . .
CrayLink = interconnect, grounding, and so forth.

3. Remove the front door. See Figure 1-2.

To remove the door, open it until it is perpendicular to the front of the system.

Press down on the top edge of the door, exerting slightly more pressure on the
outside edge of the door, farthest from the hinge. It should pop off its hinge.

S

IR

g

Figure 1-2 Removing the Front Door




Chapter 1: Installing the Rackmount Kit

4. Remove all internal 3.5-inch drives.

=« Besure to label or otherwise mark the drives so that you can put them back into
the correct drive bays. The drives must be replaced in the same drive bays from
which you removed them.

5. If there are any drives in the 5.25-inch peripheral carrier, remove the carrier.

You are now ready to remove external components.



Removing Components

Removing Components

Before installing the rackmount kit, remove the external components shown in
Figure 1-3.

Top cap

l

Side panel

\

System cover

\

Pedestal assembly

Lower bezel

Figure 1-3 Components That Must Be Removed Before Installing the Rackmount Kit



Chapter 1: Installing the Rackmount Kit

Follow these steps to remove the components:

Remove the system cover, as shown in Figure 1-4.

Using a #2 Phillips screwdriver, remove the two screws that secure the side

panel to the chassis.
Pull the rear edge of the side panel away from the rear of the system.

Slide the system cover back and off the system.

= —_ —
e
N Sniiae B @ sy

= — —
e e
e ® @ ey

w,wwwﬂo%w%wfﬁﬁ,l

N
SR

SRR

s =
s B @y

“oT— thnounnunnoooooonRon

SRR

Removing the System Cover

Figure 1-4



Removing Components

2. Remove the side panel.

« The side panel (shown in Figure 1-3) is identical to the system cover, except that
it is on the opposite side of the system. Remove it in the same way.

3. Remove the top cap, as shown in Figure 1-5.

« Inserta flat-blade screwdriver between the top cap and sheet metal, as shown in
Figure 1-5.

« Twist the screwdriver while pulling the top cap forward. The top cap should
move forward slightly as one side disengages from the sheet metal.

= Repeat this step on the opposite side of the top cap, as shown in Figure 1-5.

= When the second side of the top cap disengages from the sheet metal, pull the
top cap forward, then lift it up and off of the chassis.

Figure 1-5 Removing the Top Cap



Chapter 1: Installing the Rackmount Kit

4. Remove the lower bezel.

» Inserta flat-blade screwdriver between one side of the lower bezel and the sheet
metal, as shown in Figure 1-6.

« Twist the screwdriver to disengage the lower bezel from the sheet metal.

= Pull off the lower bezel.

<
AN
=N

Figure 1-6 Removing the Lower Bezel



Removing Components

5. Remove the pedestal assembly, as shown in Figure 1-7.

= Place the system on its side on a sturdy work surface capable of supporting at
least 40 pounds (18 kg) and up to 75 pounds (34 kg). Be careful not to scratch or
damage the front bezel.

« Using a #2 Phillips screwdriver, remove the four screws that hold the pedestal
assembly to the chassis and remove the pedestal assembly.

Figure 1-7 Removing the Pedestal Assembly

You are finished removing components. You are now ready to install the rackmount kit.



Chapter 1: Installing the Rackmount Kit

Attaching the Rackmount Hardware

Follow these steps to attach the hardware required to rackmount the chassis:
1. Attach the mounting ears, as shown in Figure 1-8.

« Using a #2 Phillips screwdriver and four of the 6-32 x 1/4-inch screws provided
with this kit, attach the two rackmounting ears to the sides of the chassis. The
ears conform to the shape of the sides of the chassis, and can be installed only
one way.

= Notice the slots in the sides of the mounting ears that allow you to move the
ears forward or backward to adjust how far the chassis extends from the
equipment rack.

Figure 1-8 Attaching the Mounting Ears

10



Attaching the Rackmount Hardware

2. Install the door assist tab using one of the 6-32 x 1/4-inch screws.

= The spring-tab provides extra support for the door in a rackmount
configuration. If you ever return the system to a tower configuration, be sure to
remove this tab as it will interfere with the operation of the door in an upright
(tower) system.

» Insert the tab between the space in the front bezel and align the tab over the
mounting hole, as shown in Figure 1-9.

« Using a #2 Phillips screwdriver, secure the door assist tab with a 6-32 x 1/4-inch
screw.

Figure 1-9 Installing the Door Assist Tab

You are now ready to install the system in an equipment rack.

11



Chapter 1: Installing the Rackmount Kit

Installing the System in a Rack

12

Follow these steps to install the Origin200 server or Origin Vault expansion cabinet in an
equipment rack.

1. Install the mounting shelf in the equipment rack using four 10-32 x 1/2-inch screws
and the four washers, as shown in Figure 1-10.

= The mounting shelf uses 4 U (7 inches, or 17.8 cm) of vertical space.

= Note that the shelf may not be suitable for use in environments with excessive
vibration. See “Mounting and Safety Considerations” on page xi for more
details. If you use a different mounting system, make sure it can support at least
75 pounds (34 kg).

f0000000000H0000000H000000000000000000000000

S O000000000000000000000000000000000000000009,

Figure 1-10  Installing the Mounting Shelf



Installing the System in a Rack

2. Using two people, one standing on each side of the chassis, lift the system and move
it to the side of the equipment rack, as shown in Figure 1-11.

Figure 1-11  Placing the System in a Rack

3. Slide the chassis back into the rack until the mounting ears are flush against the
front mounting rails of the rack.

= If necessary, you can loosen the mounting ears and slide them forward or
backward to adjust how far the chassis extends from the front of the rack.

4. Fasten the chassis to the front mounting rails with the remaining four
6-32 x 1/4-inch screws.

13



Chapter 1: Installing the Rackmount Kit

5. Install one pair of new end caps.
» There are two sets of end caps provided. (See Figure 1-1.)
= Use the narrower set with 19-inch equipment racks.
= Use the larger set with 21-inch equipment racks.

6. Replace the 5.25-inch peripheral carrier.

7. Replace any 3.5-inch drives you removed.

8. Replace the front door, as shown in Figure 1-12.

Figure 1-12  Replacing the Front Door

Note: If you need to remove the front door in the future (for example, to remove the
5.25-inch peripheral carrier), you must lift up the door assist tab while opening the door.

14



Installing the System in a Rack

You are finished installing the rackmount kit and placing the system in an equipment
rack. You may now reattach the various cables and reinstall any 5.25-inch and 3.5-inch
drives you removed.

Warning: Before connecting two Origin200 modules, always attach the grounding
cable between the two modules. If you do not use this grounding cable, differences in
ground potential between the two modules may damage internal components. This
grounding cable is provided with all two-module Origin200 servers. See your owner’s
guide for an explanation of the grounding cable and how to install it.

15



Tell Us About This Manual

As a user of Silicon Graphics products, you can help us to better understand your needs
and to improve the quality of our documentation.

Any information that you provide will be useful. Here is a list of suggested topics:

* General impression of the document

® Omission of material that you expected to find

® Technical errors

® Relevance of the material to the job you had to do

¢ Quality of the printing and binding

Please send the title and part number of the document with your comments. The part
number for this document is 007-3575-001.

Thank you!

Three Ways to Reach Us
* To send your comments by electronic mail, use either of these addresses:
—  On the Internet: techpubs@sgi.com
—  For UUCP mail (through any backbone site): [your_site]!sgi!techpubs

¢ To fax your comments (or annotated copies of manual pages), use this
fax number: 415-965-0964

* To send your comments by traditional mail, use this address:

Technical Publications

Silicon Graphics, Inc.

2011 North Shoreline Boulevard, M/S 535
Mountain View, California 94043-1389



